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Full Marks - 80

Answer all groups as per instructions.
Figures in the right hand margin indicate marks.
Candidates are required to answer
in their own words as far as practicable.

GROUP - A

I 1. Fillin the blanks. (all) [1x12
IR 9ed @a | (20g)

(a) If a set has three elements, then the number of elements its
power set is

A3 66ITN 6ACR QAR A N 29 6069 BIRIR VIS 626G
QIR Ll 266 |

(b) A sethaving only one element is termed as set.

64Q 699Q 609R 66T CIQ QTR 2N, Bl2l Yo

c4Q |

(c) The graph of linear function is

9@ 608e TR QU 1@

P.T.O.



2]

(d) A number having both integers and fractions is called

number.
609 TR Q9 QLR 6 wgrd N, Ol 260 |
o lim x? -9
H ] i p=re
\©) x33 X+3
2 limite Ry 266 |

d . :
(f) d—;(x3~3x2+5) -

—[x® = 3x Ts)aqm 269 |

(3y2)a A 266 |

(n) The decimal number system has only choices.

240 Qe o gde 2|

Adjoint of A _
Determinant of A

(1)  The value of

U R 4

-
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(3]

() Theproductoftwo natural numbers is a

e number.
Q&ﬁ)@ Qde AOMQ QElre 9@ QPG Plse |
3 5 .

(K l e !
K18 6

@ GoadiRiea gny 266 |
) AUA'=

AU A'QRY 26T |

GROUP - B

Answer any eight of the following questions within two to three
sentences each. [2x8

6U6QIEQ G 990 20Q J60YR] 9a @1 G6RIT QIRY6R gaIe 29|
(a) GivenA={1,2,3)},B={4,5, 6). Fnd AAB.

Q@ A={1, 2,3} 9&° B ={4, 5, 6}, 6069 AA BQ Qa4 G4
Q|

(b) Define logarithm function.
ol TR 2N @l
(c) Findvalue of x andy if (2-x,5)=(7,y-2).

x 6 ya e Fda @a €8 (2-x,5)=(7.y-2).
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[4]

(d) If f(x)=[x~2 |, then find f(0), f(2), f(-2), f(=1).

06 100 = | x— 2| 24, 6968 (0), 1(2), {(=2), f(-1) & A B
AN
- 2x*4+9x -5
(e) Find value of lim <% 22 %
X5 X+5
2_)_(2 +9x -5

Q gy Ade el

im XL
X—5 X+5

(f) Given TC = 75x + 8x2 + 1000 is TC function, find TVC and
TFC.

a5 TC = 75x + 8x2 + 1000 24 606@ TVC 8 TFC @4a a9

(g) Find j_y if y=7x?—logx+a".
X

AQ y = 7x% —log x + a* 2 666Q 316) amy ada eal
X

1.2 3

(h) If A:\4 5 6| thenfind |A|.
\7 8 9

24, 6069 Yola Gdige Fuc @l

3
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~ A -
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© o w
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(5]

(i) What is gross elasticity of demand ?
caQ 7ol IRl Fdg aa |
() Given z=7(x+y)-10x. Then find f and f,?
@@ z=7(x +y) - 10x 29 6869 f, 4&° f @ g4 794 @q|

GROUP - C

3. Answer any eight of the followihg questions within 75 words each.

6A6REd G Iga A8 g6eiaq. 985 49 cEa 9aIR @al
[3x8
(@) If|AUB|=100,|A|=80,|B|=30,thenfind|[ANB|.

9% |AUB| =100, |A|=80 49" |B|=306062 |ANB |2 gRY
ada eal

2
(b) Find the value of fjm X_=2X+0.
x—3 (X—3)

2 -
im X =9%%6 o oy Bda qal
x—3 (X—3) «~

5x — 4 —Jx

2 4

(¢) Find value of lim
x—1 X

09 AfeR gay Fda el

P.T.O.



(6]

(d) Ify :(x2 —ﬂ2x)(x2 +3x +7‘) then find S——z

aQ y:(x2 »--2x)(x2 +3x+7) 296069 94 e Bda 2o

dx
2
(e) If y= leogx then find d—g
dx
~ 2 d2y —~ <
dQ y=x"logx 29 666 g—za day @8d @0
X

(f) IfA, B, Cbe any three sets, then prove that —
A-(BnC)=(A-B)u(A-C)

9@ A, B, C NG 696 223 6069 gl @Q —
A-(BnC)=(A-B)uU(A-C)

(g) Determine co-factor of the following matrix :

2 -5 3
A= 3 1 2
12 1,
2 -5 3 .
A= 3 1 -2 AgQQ co-factor @K @ |
12 1
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(7]
(h) Draw the graph of the function y = x?.

y = x° I0RQ JIT. ASR Q|

6 7 -8 0
i If A {5 4} and B :\: 4 3] then find AB and BA.

@@ A-|® "l wer | B0 29 6969 AB 99° BAQ
5 4 4 3

R Qda Q|
() If C=x>+4x%+3x+100 then find AC and MC ?

9@ C=x>+4x%+3x+100 29 606@ AC W& MCQ 9a4
Qo @q

GROUP - D

Answer any four questions within 500 words each.

69663 ¥§ gga A8Q YESURQ 800 IR FRIER W

[ 4. Prove that the distributive law [7
i) AuBNC)=(AUB)N(AULC)

(i) An(BuUC)=(ANB)U(ANC)

QLR CAC QY g @l

P.T.O.




[ 2 92K |
RN 29 when x #5 (7

5 Show that f(x) = | X 5
' 10 . when X 5
\

) -
is continuous atx =9

~a@ continuity QIS QQ 6060696M x = 5.

@ Th
O = X (7
5 Find . (i) X =y
dXx
. 1+ X
and (i) y= 1 x
Qla derivative 4o el
0z 0z
_1oal ¥ iy —=0. [7
7. h‘z—log(x] then prove that X- = y: oy
- 0z oz
QQ z= log( ) 2 6069 X- —a—+y 5;—0 gaisl @ |
2 2 4
8  Find inverse of the matrix A={ 1 3 2 [7
1 3 3

/3x3

Q@ Aeqe Seain fda qa
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9. Solve by Crammer’s rule. [7
QS FAANQAIN AR Q|
3x—4y + 5z =-6
X+y—2z=-1

2x+3y+z=5

20 : . |
10. Given the demand function 9= p_ﬁ Find elasticity of demand

when p = 3. [7

g9Q q= 20 04 6o60 oBaIn GOYERE! p = 3 GQ6a Fdd 99|
p+1 =

= i~
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